Приложение 3

белые  карточки

Выберите вариант и найдите значение выражения.


            3              1       2     4

а) 280875+(25812-1356х18):6

        2      3     1         4          

б) 7567-(723х23+1371):3
Выберите вариант и найдите значение выражения.


            3              1       2     4

а) 280875+(25812-1356х18):6

        2      3     1         4          

б) 7567-(723х23+1371):3

Выберите вариант и найдите значение выражения.


            3              1       2     4

а) 280875+(25812-1356х18):6

        2      3     1         4          

б) 7567-(723х23+1371):3

Выберите вариант и найдите значение выражения.


            3              1       2     4

а) 280875+(25812-1356х18):6

        2      3     1         4          

б) 7567-(723х23+1371):3

Выберите вариант и найдите значение выражения.


            3              1       2     4

а) 280875+(25812-1356х18):6

        2      3     1         4          

б) 7567-(723х23+1371):3

